N = 0l & At & Ml A

A dEE=sH L
Bu: N20iss 59 SA(SUNLN/=Y - 5E)

ool ABAEY 4 CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
=9 22,601,742 23,445,253 N 843,511

=2 9,706,539
J| 429,466
== 1,642,764
= 10,822,973
ANEIss =g S (sgdgLdt/sg - 58) 22,467,305 23,313,996 N 846,691
= 9,706,539
Dl 429,466
== 1,642,764
o 10,688,536
EtEdsg 84 825,896 1,260,430 N 434,534
== 3,000
= 822,896
MEtd=Y H MHHHEX =4 532,596 524,230 8,366
101 [Slals] 26,366 18,000 8,366
04 JIZHZ22XNSE S 26,366 18,000 8,366
= 0l & 26,366 18,000 8,366
OFAXNN 4L 29 26,366
Oetd® o2 4,860
—-JI=223 120,000& 2L x15F=+1H 3,600
— 52422 120,000& *1.5%7L 1Y 1,260
Obeta o1 20,250
—-Jl2= 100, 000& *2 x 153 x5H 15,000
—52422xg 100, 000& *1.5%7 x5H 5,250
OEBEgY= 25,110,000 *5% 1,256
201 282 HH| 12,730 12,730 0
01 Ar®2te2lbl 2,730 2,730 0
= 0l & 2,730 2,730 0
OYR=X Z&H| 7,000& x13H x30 2,730
02 =524l 10,000 10,000 0
= 0l & 10,000 10,000 0
OEAERI KU 2,000& x5,0004 10,000
206 M Z&H] 34,000 34,000 0
01 T4l 34,000 34,000 0
= 0l & 34,000 34,000 0
OzSE=L Hals UM FHALE 52
100, 000& *340ha 34,000
307 QI12t01 A 459,500 459,500 0




EAM: 2EF=sS
Bu: N20iss 59 SA(SUNLN/=Y - 5E)
oo ABA=Y 84 CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
02 QUAHABLASEX 459,500 459,500
= 0l & 459,500 459,500 0
OFSZE=e H MHBIHX =4 427,500
OxFEE H MUIHX EY 258 XA
25,6003 *2,500& *50% 32,000
TEdsgell s g8 23,500 23,500 0
201 LBt 49| 16,000 16,000 0
01 At 2eltl 11,000 11,000 0
= 0ff & 11,000 11,000 0
o892 9 223 M 200,000& x20& 4,000
OrET=Y N 7,000
OB A=< 500,000& *43] 2,000
O XHH 2 5,000& *1,000% 5,000
03 AI2YHI 5,000 5,000 0
= 0ff &F 5,000 5,000 0
OHAlE L &It 5,000
203 YR F&H 2,000 2,000 0
03 AHMFAHRSFAH 2,000 2,000 0
= 0l & 2,000 2,000 0
OrEd=g gRFA 200,000& x103| 2,000
206 M= Hl 2,000 2,000 0
01 M=zl 2,000 2,000 0
= Ol &t 2,000 2,000 0
orEZ=g sz 2
1,000, 000& *23| 2,000
301 et 3 3,500 3,500 0
09 HALAHIXIEZ 3,500 3,500 0
= 0l & 3,500 3,500 0
Ou=s % AX3 FHIIEH
7,000 100 *53| 3,500
TEEd H M=ot 283 XA 168,000 164,700 3,300
301 et 3 168,000 164,700 3,300
12 JIEtE &3 168,000 164,700 3,300
= Ol &t 168,000 164,700 3,300
Oz EZ H Mtisdt Ed3 X3
3,000& *56,0002t 0t 168,000
Xed o ZTEHIY XA 48,000 48,000 0
307  gIztol A 48,000 48,000 0
.




2N WBASAD
Ha: XaItss 52 SH(SYHLLM/5Y - 58)
ool WBASY S4 (B9 @
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
02 INHLALRE 48,000 48,000
= 0 & 48,000 48,000 0
OMZEE & TH N
40024 240, 0000H *50% 48,000
HSFsY B MUESK SLEHE L 45,000 45,000 0
206 T 45,000 45,000 0
01 Tl 45,000 45,000 0
= 0l &t 45,000 45,000 0
OHEZE B WK S HHS LH
100,000 *450ha 45,000
Med 253X BEDS 4,000 5,000 A1,000
= 1,200
= 2,800
202 Oft 4,000 5,000 A1,000
= 1,200
i 2,800
04 =I3Hol bl 4,000 0 4,000
= 1,200
2 2,800
=0 & 4,000 0 4,000
& 1,200
2 2,800
oMY RISIX FHDS
4,000,0008 *12 4,000
= 1,200
2 2,800
ST EEY YHIIE AlY 4,800 0 4,800
= 1,800
> 3,000
307 @120l 4,800 0 4,800
= 1,800
2 3,000
02 INBMAARE 4,800 0 4,800
= 1,800
2 3,000
=0 & 4,800 0 4,800
= 1,800
= 3,000

|
w




U
d
&
0J
K
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0
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A dEE=sH L
Bu: N20iss 59 SA(SUNSLN/=Y - 5E)
0o AEA=Y JHTE CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
307 QIz2tol & = 4,000
02 QI2tFAAIHE X 7,000 130,200 N 123,200
== 3,000
= 4,000
= 0l & 7,000 130,200 AN 123,200
== 3,000
= 4,000
OHBAEME REBHD XA
10,000, 000& *1JH 2 *70% 7,000
= 3,000
= 4,000
NSt BsHEEX E2 17,280 3,000 14,280
== 3,456
o 13,824
201 282 A Y| 17,280 3,000 14,280
== 3,456
= 13,824
01 ArE2te2ld] 17,280 3,000 14,280
o= 3,456
= 13,824
= 0l & 17,280 3,000 14,280
== 3,456
o 13,824
OrSHE=HEEXN B2
10,0003 x144H x12& 17,280
& 3,456
= 13,824
HEFAMEH=sY AL I 8,000 8,000 0
= 4,000
= 4,000
201 282 A | 8,000 8,000 0
== 4,000
- 4,000
01 Ar®2te2lbl 8,000 8,000 0
== 4,000
iy 4,000
= 0ff & 8,000 8,000 0
== 4,000




2N WBASAD
o NLIss 59 SY(SYHSLN/5Y - 52)
Sl AEPsY JIBRE (2@
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES = T HRE2
= 4,000
OXBYSY HFALLYT 29
2,000,000 *40H 2 8,000
= 4,000
2 4,000
MENSER FH 206,290 91,000 115,290
= 88,410
2 117,880
402 BIAT2OIH 206,290 91,000 115,290
= 88,410
2 117,880
02 QIS ALRE(OIF ) 206,290 91,000 15,290
= 88,410
2 117,880
=0l 4t 206,290 91,000 115,290
= 88,410
2 117,880
OME SN EH
147,350, 0002 «2J4 £ *70% 206,290
= 88,410
2 117,880
SIS X & 222,500 196, 188 26,312
2 89,000
= 40,050
2 93,450
307 120l H 222,500 196, 188 26,312
2 89,000
= 40,050
2 93,450
02 PIHTMAYRE 222,500 196,188 26,312
2 89,000
= 40,050
2 93,450
=0 & 222,500 196, 188 26,312
2 89,000
= 40,050
2 93,450
ORINSATH X & 445,000,000 *50% 222,500




A dEE=sH L
Bu: N20iss 59 SA(SUNSLN/=Y - 5E)
col: MEFEY JlHRE CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 89,000
== 40,050
o 93,450
AlblEg e F&E s AIY 8,000 8,000
== 3,000
= 5,000
307 QIz2tol & 8,000 8,000
= 3,000
o 5,000
02 OQIZHAMAIEE =X 8,000 8,000
== 3,000
iy 5,000
= Ol & 8,000 8,000
== 3,000
= 5,000
OAHIE2 e &8 sk AlY
10,000, 000& *1JH 2= *x80% 8,000
== 3,000
o 5,000
HEtA=sHI|e2x 338,333 338,333
= 145,000
= 58,000
= 135,333
402 QIZ2tXrE201 ™ 338,333 338,333
= 145,000
o 58,000
o 135,333
02 SIZHXE2ALEX(0IETL) 338,333 338,333
= 145,000
o= 58,000
= 135,333
= 0l & 338,333 338,333
= 145,000
== 58,000
o 135,333
CEEE TP
483,332, 0003 * 10 A «70% 338,333
= 145,000




2N WBASAD
o NLIss 59 SY(SYHSLN/5Y - 52)
Sl AEPsY JIBRE (B9 @
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 58,000
i 135,333
HHH AT He 111,284 105,897 5,387
HMeAs UME 21 24 37,800 37,800 0
201 Yur2YHl 22,800 22,800 0
01 AtR2lY| 19,500 19,500 0
= 0 &t 19,500 19,500 0
OHBASUANWE 2 19,500
ONMWE 29 28 7Y
80,0008 *50% 43| 16,000
O+ ey SAY 350,000 «102 3,500
02 ZZ2Y| 3,300 3,300 0
=0 & 3,300 3,300 0
OB+ MUY NSE PG 2Y
2,2002 ¥50kg*3S * 102 3,300
206 THEHI 15,000 15,000 0
01 Wl 15,000 15,000 0
=0 4t 15,000 15,000 0
OSLHHE LH AN 7
7,0002 *500kg*3% 10,500
OHOAT MZER ZOHH 7L
15,0002 +20% *153] 4,500
HSBSAT ME L ASAY 73,484 68,007 5,387
101 eIyl 29,484 24,097 5,387
04 JIAH2E2XHSE 4 29,484 24,097 5,387
= 0l 4t 29,484 24,097 5,387
OHBISANM HE 22 29,484
oJlea 78,0008 #2102 1% 16,380
OFF & oX4E 78,0008 «542 1% 4,212
OFYL224Y 78,0002 +1.5+492 1% 5,733
o=gRez 26,325,000 *12% 3,159
201 Yur2gl 4,000 4,000 0
01 AtR2lY| 4,000 4,000 0
=0 4t 4,000 4,000 0
OXBBSARM HE 4,000
OS? % 2229 20,0002 «20% «10JH 4,000
206 THEHI 40,000 40,000 0
01 MW 40,000 40,000 0




A dEE=sH L
BH: N20iss 59 SA(SUNSLN/=Y - 5E)
SR HEEsSAM oY (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 40,000 40,000 0
OrEIE=sY RIAsHM Mg 2
100, 000& *10& *303] 30,000
ONE -5 MMM 2 10,000
OFd=& ¥ stLdIAH W=
10, 000 & *500kg*23] 10,000
SEHOE A= MAt 523,550 461,761 61,789
= 50,000
== 44775
= 428,775
TR e L 50,000 0 50,000
= 25,000
o 25,000
307 212t0l A 50,000 0 50,000
= 25,000
= 25,000
02 QI2tFAAEEX 50,000 0 50,000
= 25,000
= 25,000
= 0l & 50,000 0 50,000
= 25,000
o 25,000
O=sgstdBdITZ & 50,000,000 & 104 4~ 50,000
= 25,000
o 25,000
S9&8 HEN 100,000 108,000 A 8,000
== 30,000
= 70,000
301 QetE M= 100,000 108,000 A 8,000
= 30,000
o 70,000
12 JIEIEA 2 100,000 108,000 A 8,000
& 30,000
= 70,000
= Ol & 100,000 108,000 A 8,000
== 30,000
= 70,000
o39d A=A 100,000




EAM: 2EF=sS
M NHIiss s 4 (sgllLsd/sg8 - s&)
o BHOE SME MM CER-E
SH-EH. O (AN) - NRANY - B o) ) HDE2
= 30,000
= 70,000
HetZol S 287,000 287,000 0
301 etEd3 287,000 287,000 0
12 JIEt2 A3 287,000 287,000 0
= Off & 287,000 287,000 0
OHBHZ 448 L 24H N &
320,000& *500ha 160,000
OFEZ=sitE2 M ez XA 127,000
ORIl=sels 82,150
ORs%0s 44,850
GAP otM 4 =& X2 50,000 25,000 25,000
= 25,000
= 7,500
= 7,500
202 (4 H| 3,000 0 3,000
= 1,500
& 450
= 1,050
01 2L I 3,000 0 3,000
= 1,500
= 450
= 1,050
=0f &t 3,000 0 3,000
= 1,500
= 450
= 1,050
OGAPHM A 24 FEX T ¢l
100,000 <32 + 10 3,000
= 1,500
= 450
= 1,050
207 Ao 22,000 0 22,000
= 11,000
= 3,300
= 7,700
01 H5=49H| 22,000 0 22,000
= 11,000

_10_




EAM: 2EF=sS
Bu: N20iss 59 SA(SUNLLN/=Y - 5E)
o BHOE SME MM CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 =9 < 3,300
i 7,700
= 0ff &F 22,000 0 22,000
= 11,000
= 3,300
= 7,700
OEZdEs XML 24 22,000,000 14 & 22,000
= 11,000
= 3,300
= 7,700
301 et Z 25,000 25,000 0
= 12,500
= 3,750
= 8,750
12 JIEt2 &3 25,000 25,000 0
= 12,500
= 3,750
i 8,750
= 0l &F 25,000 25,000 0
= 12,500
= 3,750
= 8,750
OGAP 2t& & HAtHI XI& 500,000 x50 &~ 25,000
= 12,500
= 3,750
= 8,750
GAP 21522 XA (ZHl) 2,000 2,961 A 961
& 600
= 1,400
301 etEd3za 2,000 2,961 A 961
= 600
= 1,400
12 JIEt2 &3 2,000 2,961 A 961
= 600
= 1,400
= 0l & 2,000 2,961 A 961
= 600

_11_




A dEE=sH L
HHM: IHIse s S (sgildrdt/sY - 55)
o BHOE SME MM CER-E
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;lﬁ% HRE2
= 1,400
OGAP 21522 XA 80,000 *2504 A~ 2,000
== 600
o 1,400
GAP 1=z 2 L 2 AH| X (XA 12,300 12,300 0
201 Bt A | 2,300 2,300 0
01 Ar®2te2lt] 2,300 2,300 0
= 0l & 2,300 2,300 0
OGAP E ¥ EE2= MZ 5,600& *250% 1,400
OGAP W& A= 300,000& *33] 900
301 Bt N = 10,000 10,000 0
12 JIEIE A3 10,000 10,000 0
= 0l & 10,000 10,000 0
OGAPRI S =2 L 2 AtHl XI&
200, 000& *50ha 10,000
GAPRIZ AR AlA(ZHl) X 22,250 2,500 19,750
== 6,675
o 15,575
402 QIZ2tXIE0l ™ 22,250 2,500 19,750
== 6,675
= 15,575
02 QUAT2SAILEZ(0IETHE) 22,250 2,500 19,750
== 6,675
= 15,575
= 0l & 22,250 2,500 19,750
== 6,675
o 15,575
OGAPRIZ= ARE AIM(ZH|) X
22,250,000& *2JH 2 *50% 22,250
== 6,675
= 15,575
AgRe 3y HD 4,206,877 4,551,923 £ 345,046
= 800,380
== 611,333
= 2,795,164
= Et&Z2 THoi X & 812,600 1,455,200 N 642,600
= 650,080
== 48,756

_12_




A dEE=sH L
Bu: N2l 59 SA(SUNSLN/EY - BE
CHol: AETE ZM M1 CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
= 113,764
301 Bt N = 812,600 1,455,200 A 642,600
= 650,080
& 48,756
= 113,764
12 JIEIE A2 812,600 1,455,200 A 642,600
= 650,080
== 48,756
= 113,764
= 0l & 812,600 1,455,200 A 642,600
= 650,080
== 48,756
= 113,764
O= EBt&Z2 MUIXI& 3,400,000& *239ha 812,600
= 650,080
== 48,756
= 113,764
SHOIMSEL AN 6,600 0 6,600
= 3,300
== 990
= 2,310
402 QItXE0lHA 6,600 0 6,600
= 3,300
== 990
= 2,310
02 QIAX2AILEZ(0IETHE) 6,600 0 6,600
= 3,300
& 990
= 2,310
= 0l & 6,600 0 6,600
= 3,300
& 990
= 2,310
ORdl OFMES=2 ZEAAL XA
1,650,000& x5l A *80% 6,600
= 3,300
= 990
= 2,310

_13_




EAM: 2EF=sS
M NHIiss s 4 (sgllLsd/sg8 - s&)
CHol: AETE ZM M1 CER-E
A EY - SA(B) - NS - B (X o) ) DS
= 018 2 M4 M= JHG Adls AlY 34,000 0 34,000
= 17,000
= 17,000
402 QU2tXp=20lM 34,000 0 34,000
= 17,000
= 17,000
02 PIZT2ALEZ(0IETHA) 34,000 0 34,000
= 17,000
= 17,000
= Off & 34,000 0 34,000
= 17,000
i 17,000
O= 0l8 3L MSEI|HS AMIIs AlY 34,000
= 17,000
= 17,000
D0t s 53 Un=2 X =24 200,000 0 200,000
2 100,000
= 100,000
402 U2t =201H 200,000 0 200,000
= 100,000
= 100,000
02 QUAT2AMEEZ(0IETHA) 200,000 0 200,000
= 100,000
= 100,000
= Off & 200,000 0 200,000
= 100,000
= 100,000
0170t FIUsd 3 UL ©X =4 200,000
= 100,000
= 100,000
HZ2 LHIX 423 MY 60,000 0 60,000
= 30,000
= 30,000
402 QIZtXrE0l M 60,000 0 60,000
= 30,000
i 30,000
02 QUAT2AILSZ(0IETHSA) 60,000 0 60,000

_14_




R =o g
= Sose BA(STHLSA/EY - 5E)
el 2 Zme M1 el a e
3ol () RN - B o) o) s
QIZIX2AIL 2 X (Ol & &) = 30,000
i 30,000
& 60,000 60,000
= 30,000
= 30,000
2= Z2IIIKN 43S AlY 60,000
= 30,000
= 30,000
A MAE AHEX =4 173,250 143,400 29,850
= 49,500
= 123,750
It 201 ™ 173,250 143,400 29,850
& 49,500
= 123,750
QIZETG AL EX (0| X THS) 173,250 143,400 29,850
= 49,500
= 123,750
& 173,250 143,400 29,850
= 49,500
i 123,750
OLNZTE & MAHI =4
750,000& *110ha*70% 57,750
= 16,500
= 41,250
OJlsd & MAHI =4
750, 000& *220ha*70% 115,500
=~ 33,000
= 82,500
&2 MEHeX =4 58,100 58,100
= 16,600
[ 41,500
It 201 H 58,100 58,100
= 16,600
= 41,500
QI2ZETGE2AIE EX (0| X THS) 58,100 58,100
= 16,600
= 41,500
= 0l & 58,100 58,100

_15_




A dEE=sH L
Bu: N2l 59 SA(SUNSLN/=Y - 5&)
CHol: AETE ZM M1 CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
& 16,600
= 41,500
ONSZE &= MUIEX XI&
830, 000& *100ha*70% 58, 100
= 16,600
= 41,500
H AMES AKX AlE 30,000 30,000
== 9,000
o 21,000
402 SItXpE01 ™ 30,000 30,000
== 9,000
= 21,000
02 QIAX2AILEZ(0IETHE) 30,000 30,000
== 9,000
= 21,000
= 0l & 30,000 30,000
== 9,000
o 21,000
OH AMEZ AL AlY
30,000, 000& =14 A~ 30,000
= 9,000
= 21,000
AMAH 22t BH O AATHEE AlE 32,000 32,000
= 12,000
= 20,000
402 QI2FXE0|M 32,000 32,000
== 12,000
- 20,000
02 SIZHXE2ALEX(0IETHL) 32,000 32,000
= 12,000
iy 20,000
= 0ff & 32,000 32,000
== 12,000
= 20,000
OMAH E22Z H AATHEE AIE
40,000,000& * 1 A *80% 32,000
== 12,000
o 20,000

_16_




EAM: 2EF=sS
Bu: N2l 59 SA(SUNSLN/=Y - 5&)
CHol: AETE ZM M1 CER-E
SH-EH. O (AN) - NRANY - B o) ) HDE2
H Hilsot 2E¢d = N& 1,554,263 1,410,000 144,263
= 466,279
[ 1,087,984
301 et 3 1,554,263 1,410,000 144,263
= 466,279
= 1,087,984
12 JIEt2 &3 1,554,263 1,410,000 144,263
= 466,279
= 1,087,984
= 0l & 1,554,263 1,410,000 144,263
& 466,279
i 1,087,984
OH THHH=2JF BHtE XS XI& 1,554,263
= 466,279
= 1,087,984
el 4 N 14,364 120,093 A 105,729
& 4,104
z 10,260
301 et 3 14,364 120,093 A 105,729
= 4,104
= 10,260
12 JIEt2 &3 14,364 120,093 A 105,729
= 4,104
= 10,260
= 0l & 14,364 120,093 A 105,729
& 4,104
= 10,260
o=elZ 84 K& 360,000& *57ha*70% 14,364
& 4,104
= 10,260
H 2% &X K& 150,000 150,000 0
402 QIZEXrE0l M 150,000 150,000 0
01 QU2 2AISE X (RHAHSA) 150,000 150,000 0
= 0l & 150,000 150,000 0
oOH 2% &X N
300,000,000& *17H 2~ *50% 150,000
H S2E 4EMME 32 XA 645,000 675,000 230,000

_17_




EAM: 2EF=sS
BH: LOIss 59 SH(SEHLLM/5Y - 5E)
el AerRg AmMe H D (25 @a
SA BB (3AH) - NBAY - B (21 501) o) HDE 2
402 QI =0lM 645,000 675,000 A 30,000
01 QU2 T2AMEEX (M) 645,000 675,000 A 30,000
=0 o 645,000 675,000 30,000
OH =22 &4 - HE 3=
150, 000& *4,300ha 645,000
B =31 K& 15,000 0 15,000
402  QIZEXrE0l M 15,000 0 15,000
01 QU2 2AISE X (KHAHSA) 15,000 0 15,000
= Ol & 15,000 0 15,000
OH 2=&1I| X
30,000, 000& * 1K 2 *50% 15,000
ISE sats8 dadiet =4 145,000 159,500 A 14,500
402 QIZ2EXt=0l M 145,000 159,500 A 14,500
01 QU2 T2AMEEZ(RHAHA) 145,000 159,500 A 14,500
= Off & 145,000 159,500 A 14,500
oOgM 22450 N&
2,000,000 *15CH *50% 15,000
ORY0l=Y AEHX =4
200,000& *1,000ha*50% 100,000
OJlsd H s24% XA
1,000& *60,000H x50% 30,000
2ol Ma Fedig XA 100,800 0 100, 800
301 etz 100,800 0 100,800
12 JIEt2 &3 100,800 0 100,800
= Ofl &F 100,800 0 100,800
OLcl Ma Feizg AA 288,000 *350ha 100,800
NEE 23X 2 XA 84,920 72,750 12,170
301 et 3g 84,920 72,750 12,170
12 JIEt2 &3 84,920 72,750 12,170
= 0ff &F 84,920 72,750 12,170
OLNEE SEEH 2L XA 84,920
oH 2=3 12,000 *6,000L 72,000
o= E23 7,600& x1,7002 12,920
s Mol K& 62,000 73,000 A 11,000
302 OI=LMH2AZ 20,000 20,000 0
02 QIZCIMMHL=ERESELS 20,000 20,000 0
= Ofl & 20,000 20,000 0
O=g Mol 24 10,000, 000& *23| 20,000
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EAM: 2EF=sS
BH: N0iss 59 SA(SUNLN/=Y - 5E)
09 ZNASEE NENEAY CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
301 detedzg 65,000 65,000 0
= 52,000
= 13,000
12 JIEt2 &3 65,000 65,000 0
= 52,000
= 13,000
= 0l &F 65,000 65,000 0
= 52,000
i 13,000
OXAHEXNY HEXN=3 650,0002 *100ha 65,000
= 52,000
= 13,000
EdsgERN=3 A& 165,000 165,000 0
= 165,000
301 et 3 165,000 165,000 0
= 165,000
12 JIEt2 &3 165,000 165,000 0
= 165,000
= 0l & 165,000 165,000 0
= 165,000
orsZd=g NEXN=Z 550,000& *300ha 165,000
= 165,000
Z2E2HANEFRNES N 5,950 0 5,950
= 2,975
= 2,975
301 LEtENEZF 5,950 0 5,950
= 2,975
= 2,975
12 JIEt2 A3 5,950 0 5,950
= 2,975
[ 2,975
= 0l &F 5,950 0 5,950
= 2,975
= 2,975
oJd&a=2d HBINES 1,700,000& *3.5ha 5,950
= 2,975
= 2,975
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fA: B
=

HE: N2Iss 59 SL(SYHSL/S5Y - 5E)
Ol SIASEE NFNSAL (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
ESsSUELASEE H=23 N 20,000 5,000 15,000
= 10,000
z 10,000
301 LEtBEZz 20,000 5,000 15,000
= 10,000
= 10,000
12 JIEtE 43 20,000 5,000 15,000
= 10,000
i 10,000
= 0fl & 20,000 5,000 15,000
= 10,000
= 10,000
OEZsM2 ASEH 23
2,000,000& =10ha 20,000
= 10,000
= 10,000
HANEZ HHZH KB (KH) 35,339 35,339 0
Il 35,339
201  LEr2gH 11,339 11,339 0
J| 11,339
01 AtR2Zeldl 11,339 11,339 0
J| 11,339
= Ofl & 11,339 11,339 0
Il 11,339
ORASHE NFNSAY HHAUIX 11,339
ORI+ sS 100,000& 98 9,800
J| 9,800
OsESHMZ 102,600 =155 1,539
J| 1,539
202 OdHl 24,000 24,000 0
Il 24,000
01 LAY 24,000 24,000 0
J| 24,000
= 0l & 24,000 24,000 0
Il 24,000
OMASEHE MPASAMEY E0IY|
80,000& x30F «10& 24,000
Il 24,000
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SH: BT S
BH: N0iss 59 SA(SUNLN/=Y - 5E)
e SIASEE MNYEASAIY (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
YsRNED #FAY X 14,000 14,000 0
= 14,000
202 044l 14,000 14,000 0
= 14,000
01 2L Y 14,000 14,000 0
= 14,000
= 0l & 14,000 14,000 0
= 14,000
o= MNEXNSAMY =AU
50,000& *28H =10 14,000
= 14,000
ESESEAEY 2 145,300 138,900 6,400
= 17,000
Dl 2,900
o 125,400
sS2)|=d SEEAA 29 NF(ELZEHA) 34,000 40,000 A 6,000
= 17,000
= 17,000
201 B2 A 11,500 25,000 A 13,500
= 5,750
= 5,750
01 At 2te2ldl 2,500 10,000 A7,500
= 1,250
iy 1,250
= 0l & 2,500 10,000 A7,500
= 1,250
- 1,250
OEAXZHAY 2 2,500
OELATY HIE P
50,000& *10E =44 2,000
= 1,000
- 1,000
OSaH2EA HIE 166,660& *3H 500
=2 250
o 250
02 =324l 9,000 15,000 A 6,000
= 4,500
iy 4,500
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SH: BT S
BH: N0l 59 SA(SUNSLN/=Y - 5E)
oY EgzeAN zel CER-E
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;lﬁ% HRE2
= 0l A 9,000 15,000 A 6,000
= 4,500
o 4,500
OELHHHBHRANES
1,000,000 *x35 *33| 9,000
= 4,500
= 4,500
202 044l 4,000 5,000 A 1,000
= 2,000
= 2,000
01 =Z2LWAHI 4,000 5,000 A 1,000
= 2,000
= 2,000
= 0l & 4,000 5,000 A 1,000
= 2,000
o 2,000
OEXZE &0l 20,000& *25H 83| 4,000
= 2,000
o 2,000
206 M Z&H| 6,500 10,000 A 3,500
= 3,250
o 3,250
01 MZ2H| 6,500 10,000 A 3,500
= 3,250
= 3,250
= 0 A 6,500 10,000 A 3,500
= 3,250
= 3,250
OEUYA™A A%, =X72Y
50,000& *10& =134 6,500
= 3,250
= 3,250
405  XHaHFE S 12,000 0 12,000
= 6,000
= 6,000
01 MM =SSFHSH 12,000 0 12,000
= 6,000
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A dEE=sH L
BH: N0l 59 SA(SUNSLN/=Y - 5E)
oY EgzeAN zel CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
01 MM =SSFHSH = 6,000
= 0l & 12,000 0 12,000
= 6,000
= 6,000
OELZAHHH 7Y 12,000,000& x1= 12,000
= 6,000
= 6,000
s¢)|=d SN 29 NF(ELEHA A 108,400 90,000 18,400
)
101 Ol A H| 108,400 90,000 18,400
03 RIAHALZ2ZXNHE S 108,400 90,000 18,400
= 0ff & 108,400 90,000 18,400
OELAFTA 2 A2 (XHAM) 108,400
[OPIE=3=1 2,047,030 x3H x12& 73,694
oY 215,000& »3H x12& 7,740
OMNESHIBEX4E 270,000& x 15 43| 1,080
OMIIEE LR 243 ,2203 x 3G x12& 8,756
g&AZ 188,500 x3H »12& 6,786
Og9ZEAMN=Z 1,357,220 *3Y *23| 8,144
o=4=R 2,200
MREZ2 HEAH KNJA(ELAH) 2,900 2,900 0
Dl 2,900
206 M & H] 2,900 2,900 0
J| 2,900
01 Mzl 2,900 2,900 0
J| 2,900
= 0l & 2,900 2,900 0
Dl 2,900
OMXZH EXHA 1,450,000& *x23] 2,900
J| 2,900
Hal sz 22l 49,000 59,850 A 10,850
= 12,500
o 36,500
SHSYWHs A 29 XA 22,000 22,000 0
= 11,000
o 11,000
101 ol A H| 20,000 20,000 0
= 10,000
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A dEE=sH L
Bu: N20iss 59 SA(SUNSLN/=Y - 5E)
S galsoE 22 (e &
SN HE B (BA) - MEAY - BHAS o @(ijf;ﬁ% HRE2
101 jelals] = 10,000
03 RIHAZZXNE S 20,000 20,000 0
= 10,000
= 10,000
= 0l & 20,000 20,000 0
= 10,000
= 10,000
OBErHASH o2l (=24]) 20,000
oJlz= 2,047,030& x 1 »7& 14,330
= 7,165
o 7,165
[OE3=] 195,000& *1H +x7& 1,365
= 682
o 683
OAMSIEEHYE 238,880 x1H x7& 1,673
= 837
o 836
@)= ESpsE== ) 186,840 x 1H +x7& 1,308
2 654
@ 654
oFg2= 1,324
= 662
= 662
201 282 A Y| 2,000 2,000 0
= 1,000
= 1,000
01 Ar®2t2ld] 2,000 2,000 0
= 1,000
= 1,000
= 0l & 2,000 2,000 0
= 1,000
o 1,000
odgadis X 29 20,000& *10= =104 2,000
= 1,000
o 1,000
=xnEHdE Oy 22 N (HA) 24,000 32,350 ~8,350
101 ol A4 H| 16,000 10,350 5,650
|
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2N WBASAD
o NHIss 59 SY(SYHSLN/5Y - 52)
ool HosE 22 (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
03 SINHA2EXRA 16,000 0,350 5,650
= 0 & 16,000 10,350 5,650
OB HiHE HETT L4ISY AR 16,000
0Jl=3 2,047,030 %1% +52 10,236
O+g 195,0002! * 1% +5% 975
OAslEE g 238,880+ 1 x5% 1,195
CEEL-EIoT 186,8402! 1% +5% 935
OY=E It 1,228,220 +12§ x23] 2,457
oFgae 202
201 Yur2YH| 8,000 8,000 0
01 AtR2lY| 4,000 4,000 0
=0 4t 4,000 4,000 0
OHHE HFL 2F 40,0008 +10Z5+100H 4,000
02 ZZ2Y| 4,000 4,000 0
=0 & 4,000 4,000 0
ORNSINBSHY SNL4
2,000,000% x2% 4,000
SXSHHE VEE 2Y X 3,000 3,000 0
2 1,500
2 1,500
201 Yer2 Yyl 1,500 1,500 0
2 750
2 750
01 AtR2lY| 1,500 1,500 0
= 750
2 750
=0 4t 1,500 1,500 0
2 750
= 750
OHHEREE 29 150,00021 * 104 2 1,500
2 750
= 750
01 YprBHI 1,500 1,500 0
2 750
= 750
12 JIEEAl 1,500 1,500 0
2 750

_27_




EAM: 2EF=sS
Bu: N20iss 59 SA(SUNSLN/=Y - 5E)
Chel: HolsoE 2el (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
12 JIEt2 &3 = 750
= Off & 1,500 1,500 0
= 750
= 750
OYoiSHETE SX=sIt B4
150,000 * 1004 2 1,500
= 750
= 750
gz LM K& 1,627,280 1,100,817 526,463
= 40,480
& 102,000
= 1,484,800
sHA=gols gHH XA 80,960 95,700 A 14,740
= 40,480
= 40,480
206 M= Hl 80,960 95,700 A 14,740
= 40,480
= 40,480
01 M=zl 80,960 95,700 A 14,740
= 40,480
i 40,480
= 0l &F 80,960 95,700 A14,740
= 40,480
= 40,480
O=sZs gals LAl 80,960
Ol sSg4Yois 2x 110, 0002 *600ha 66,000
= 33,000
= 33,000
Ot HAdol=s Ml 110,000& *136ha 14,960
= 7,480
= 7,480
H gals2Hid(se:) 290,000 422,117 A132,117
= 87,000
= 203,000
206 M= Hl 20,000 47,500 A 27,500
= 6,000
= 14,000
01 M=l 20,000 47,500 A27,500
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SN

&l &t
M XS0 o R (sEHlYENMN/sE - 55)
S gols g$H K& (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
01 &4l & 6,000
iy 14,000
= 0ff &F 20,000 47,500 N 27,500
== 6,000
o 14,000
O=s2Aotd™ A2 EHl X3 50,0003 x400AM E 20,000
= 6,000
= 14,000
402 QIZ2EXIE0l ™ 270,000 374,617 A 104,617
== 81,000
= 189,000
02 QIAX2AILEZ(0IETHE) 270,000 374,617 N 104,617
o= 81,000
= 189,000
= Ol & 270,000 374,617 N 104,617
== 81,000
o 189,000
OoH Yoz ssH s&d tigg XA
100, 000& *1,800ha 180,000
== 54,000
= 126,000
Ok AZ)| XA
180,000, 000& *50% 90,000
== 27,000
o 63,000
H Hols2LMAIOI=d) 50,000 0 50,000
== 15,000
o 35,000
206 M Z&H| 50,000 0 50,000
== 15,000
= 35,000
01 MZ2H| 50,000 0 50,000
== 15,000
= 35,000
= 0l & 50,000 0 50,000
== 15,000
- 35,000
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A dEE=sH L
BH: N0l 59 SA(SUNSLN/=Y - 5E)
S gols g$H K& (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
OoH ddis ss2Hd XA
100, 000& *500ha 50,000
= 15,000
= 35,000
B Holl S X2 (XHA) 1,206,320 583,000 623,320
206 M Z&Hl 741,200 175,000 566,200
01 MZ2H| 741,200 175,000 566,200
= Ol & 741,200 175,000 566,200
OH s2AXNMel M X
100,000& *4,700ha 470,000
OoH gais ZHAS 70,000& %3, 160ha 221,200
OHlclols ¥ sgYals 2=y X3
50,000& *1,000ha 50,000
402  QI2tXHE01HA 465,120 405,000 60,120
01 QIAX2SAILER(XMINE) 465,120 405,000 60, 120
= Ol &t 465,120 405,000 60, 120
OH HHERSYH S5 KRN
100,000& %2 ,584ha*23!| *90% 465,120
SEsg A7 118,562 143,280 N24,718
SHAdsgHARLE 29 94,462 56,256 38,206
101 ol 4| 55,462 27,906 27,556
04 JIZtHZ2ZXNSE > 55,462 27,906 27,556
= 0l & 55,462 27,906 27,556
OMPEEHE ABU(HMER) 29,484
oJlea 78,000 x210 *1H 16,380
o5 % dx=x< 78,000 x54 2 x1H 4,212
Osedagxxe 78,000& *1.5%49! »1H 5,733
[@)==-R-a=g=) 26,325, 000& *12% 3,159
O PIEZEZP QA (YL 25,978
oJlea 68,720& x210 *1H 14,432
OFs 4 % 68,720& x54 2 x1H 3,711
Osdaxsxd 68,720& 1 .5%49 x1H 5,051
OEgsed= 23,194, 000& *12% 2,784
201 A E2 A Y| 11,000 11,000 0
01 Ar®2telt] 10,000 10,000 0
= 0l & 10,000 10,000 0
OHRPEAE & 10,000
OHEEHM & 100, 000& *504! 5,000
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SN
X ZH -
L=

el

BHSYD
£olsE 59 SH(SYHLLL/SY - &)
Az o

©
]
Y

Oll &F o

& 1 = 0f 4 o

SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
SEFVEES 10,0002 *1Z *100% 1,000
052122t 500, 0002 *2CH *33] 3,000
ONIPEZ2Y 225 7

200,000 *141 x53] 1,000

02 Bz2YH| 1,000 1,000 0

=0 & 1,000 1,000 0
O¢PEY 2% ZHl KX 500,008 23] 1,000

206 TR 9,000 4,000 5,000

01 MEHl 9,000 4,000 5,000

=0 & 9,000 4,000 5,000
OUIEY WE PY 9,000
OUPEF HE PY  500,0008 +25 23] 2,000
OEX 2¢ 50,0002 x20% 23l 2,000
OEYIIWZS HIZ 7Y 10,0008 +300E 3,000
O 2 100,000 x2%5 *103] 2,000

401 ASHILLTHY 19,000 9,000 10,000

01 Al&H] 19,000 9,000 10,000

=0 & 19,000 9,000 10,000
ONPEY M| 19,000, 00021 * 14! 19,000

2= 97N 2Y 24,100 29,100 A5,000

201 Yur2YHl 14,100 18,100 ~4,000

01 AtR2lY| 7,500 7,500 0

=0 & 7,500 7,500 0
CEEREX- 7,500
OMEAa HETY 250,000 2% *33] 1,500
0= DA 10,0002 *100% 1,000
ST 50,0002 +105 500
ouss 50,0008 *5% +25 500
CE X RN 50,0002 +203! 1,000
0IIDS &It 300,000 * 103! 3,000

02 T2 6,600 10,600 A4,000

=0 & 6,600 10,600 ~4,000
oolTa FUISK L HIISHL 6,600
OFHIR N 1,000,0008 *63| 6,000
omIIZH el 20,0008 303! 600

206 THE Y] 10,000 1,000 9,000

01 Wl 10,000 1,000 9,000
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2N HEZSAD
Ha: XaItsd 52 SH(SYHSLM/5Y - 58)
ool BYSY A7 CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 0l & 10,000 1,000 9,000
O=ANE AN L W2 7Y 10,000
O 7 500,000 2% 63! 6,000
OAlet 7l 100, 00021 ¥5 5 #43] 2,000
O=4g 28 ¥ JtA 7Y
500,000 2% 23] 2,000
T AAIE R 862, 160 794,950 67,210
= 12,000
| 28,000
= 163,400
2 658,760
D4 5HE PRET 6,760 6,760 0
201 st 2,760 2,760 0
01 AtR2lY| 2,760 2,760 0
=0 &t 2,760 2,760 0
oMo FH LT 70,0002 *6 % *33] 1,260
ChES-E e 500, 0002 *33] 1,500
203 YLEY 1,000 1,000 0
03 AHERYLEZY 1,000 1,000 0
=0 & 1,000 1,000 0
OB4BHAREH 200,0002 53] 1,000
301 YWBHI 3,000 3,000 0
09 BAAHIXIRS 3,000 3,000 0
=0 & 3,000 3,000 0
OB4+TE DS L Fits FuBY
20,0002 %302 *53] 3,000
DM AAL B CHBEANS (FTADI ) 70,000 250,000 180,000
| 28,000
= 12,600
> 29,400
402 PIATROIA 70,000 250,000 180,000
| 28,000
= 12,600
o 29,400
02 QIR AR E(OIFTHR) 70,000 250,000 180,000
gl 28,000
= 12,600
= 29,400
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SH: BT S
BH: N20iss 59 SA(SUNLN/=Y - 58)
SR A MAALXRA (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 70,000 250,000 A 180,000
Dl 28,000
== 12,600
o 29,400
OW=MAAIE ST AL (FTAIIZ)
14,000, 000& * 100 2 *50% 70,000
Dl 28,000
c 12,600
= 29,400
ES=Ss 0 WA X3 AlY 24,000 24,440 N 440
= 12,000
= 3,600
o 8,400
307 QIz2tol & 24,000 24,440 N 440
12,000
== 3,600
= 8,400
02 QI2tFAAIHEE X 24,000 24,440 N 440
= 12,000
== 3,600
= 8,400
= Ol & 24,000 24,440 N 440
= 12,000
= 3,600
= 8,400
Oxs==suad H2tAa X3 AlEY 24,000
= 12,000
== 3,600
= 8,400
s&=2 Mol2E 400,000 60,000 340,000
== 100,000
= 300,000
301 Bt N = 400,000 60,000 340,000
== 100,000
o 300,000
12 JIEIE A2 400,000 60,000 340,000
o= 100,000
iy 300,000
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SH: BT S
BH: N20iss 59 SA(SUNLN/=Y - 58)
SR A MAALXRA (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 400,000 60,000 340,000
== 100,000
o 300,000
Os&=Mol2gz A& 400,000
== 100,000
o 300,000
MNASTAMAAAE S 60,000 80,000 A 20,000
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SH: BT S
BH: N20iss 59 SA(SUNLLN/EY - 5E)
ol AlSTA FME A CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 52,500 75,300 A 22,800
== 21,000
o 31,500
OZJ|otA AN S
21,000, 000& *5JH 2 *50% 52,500
= 21,000
= 31,500
o) Y LR (FIF)E2 16,250 0 16,250
== 6,500
o 9,750
402  QIZ2tXE01H™ 16,250 0 16,250
== 6,500
= 9,750
02 QIAX2AILEZ(0IETHE) 16,250 0 16,250
== 6,500
= 9,750
= 0l & 16,250 0 16,250
== 6,500
o 9,750
0%) 28 I2F(FR)ES A&
32,500, 000& *50% 16,250
& 6,500
= 9,750
MO8 AX XI& 10,400 19,187 NB,787
= 3,900
= 6,500
402 QItXE0lA 10,400 19,187 NB,787
== 3,900
o 6,500
02 SIZHXE2ALEX(0IETL) 10,400 19,187 NB,787
o= 3,900
iy 6,500
= 0ff & 10,400 19,187 NB,787
= 3,900
= 6,500
oMdIIHE D] AXI K&
13,000,000& *2CH x40% 10,400
== 3,900
o 6,500
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35,000
100,000
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=
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A dEE=sH L
BH: N20iss 59 SA(SUNSLN/=Y - 5E)
@ s SR SR
SNBSS (BH) - MEAY - B2 (ggz::) @fjfgm;ﬁ% =2
= 75,600
= 953,400
403 X XSHHSKH=201H 2,100,000 2,100,000
= 1,071,000
== 75,600
= 953,400
02 Z2J/2SHUStA2SEAE A 2,100,000 2,100,000
= 1,071,000
& 75,600
= 953,400
= O & 2,100,000 2,100,000
= 1,071,000
== 75,600
= 953,400
ORJI&EHE 22 2,100,000
= 1,071,000
== 75,600
= 953,400
SI&EdlE XN 200,000 200,000
403 XXSHHSKH=20lH 200,000 200,000
02 SIZ2SHUSHA=2EREAS I 200,000 200,000
= 0l & 200,000 200,000
OKRJIEHZE Z=(XA) 200,000
E AN X 393,000 393,000
= 255,000
= 138,000
403 X XSHHSKH=20lH 393,000 393,000
= 255,000
o 138,000
02 SIZ2SHUSHA=2ERAE AIS I 393,000 393,000
= 255,000
iy 138,000
= 0ff &F 393,000 393,000
= 255,000
= 138,000
OELNEH K& 131,438& *2,990& 393,000
= 255,000
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A dEE=sH L
BH: N20iss 59 SA(SUNSLN/=Y - 5E)
Col: BMESYNR CERT
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;lﬁ% HRE2
| | 2 138,000
2USHES0Iisg 2 2L (MEBXNALRCIAIE) 180,913 153,344 27,569
101 jSlals] 81,438 53,869 27,569
04 JIZtHZZXNSE > 81,438 53,869 27,569
= 0l & 81,438 53,869 27,569
o2t lsga 29 A8 (M) 29,484
oJlea 78,000 x210 *1H 16,380
o5 ¥ dxx< 78,000 x54 2 x1H 4,212
Osedagq2axe 78,000& *1.5%49! x1H 5,733
OEBEgg=2 26,325,000& *12% 3,159
o2l sga 29 gl (gdet) 51,954
oJlea 68,7203 x210L »2H 28,863
OFs 4 x4 68,720& x54 2 x2H 7,422
Osda2Rxd 68,720& x1.5%492 2 H 10,102
OEgsdg= 46,387,000 *12% 5,567
201 A E2 A Y| 79,475 79,475 0
01 Ar®2teltl 12,100 12,100 0
= 0l & 12,100 12,100 0
osdHsitislidsga & “ANELH2Y 12,100
ORcISAS2IEARERY
100,000 *6& *7 3] 4,200
OLXNEH2HE A22FFL
80,000& x4E x53] 1,600
O8 & uH & 500,000& *2& 1,000
OXEsLEY ZTAE HH 120,000& *205 2,400
OME % Hzx7g 10,0003 x2E x 100 & 2,000
odiaisgies s
20,000& *15& 33| 900
02 =324l 67,375 67,375 0
= 0l & 67,375 67,375 0
o2t Sllid=sgs &9 67,375
[@F=g="R=2=s] 1,300& *7,000¢ *4& 36,400
OR2AFIQRS (MY R) 24,262
23 166,500& *1.1037*12& 2,206
- AMBRZ
79.3& *21,000kwh*1.1037*12& 22,056
OANEHH SKSAES 1,500, 000& *43] 6,000
O24stiisiidisg 228 SHe2
59,400& x 120 & 713
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2N HEASAD
HE: N2ItsE 5 SH(SYHLLL/5Y - 5E)
Sel: SIS (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
206 M=l 20,000 20,000 0
01 M=l 20,000 20,000 0
= Ofl & 20,000 20,000 0
OSUSHHSIHSYY L LXNEH 2Y 20,000
ootgid 52+ 50,000& *35 x40 6,000
OLNEZE 58 2 ZX7Y
20,000& x10& *20= 4,000
OBHMO I1CT X2
100,000& *20& x54! 10,000
OleH=sHERA 29 40,200 100,000 A 59,800
201  LEL2H] 15,000 15,000 0
01 AFR2elbl 12,000 12,000 0
= Ofl & 12,000 12,000 0
ONRSY 84 A2E 7Y
100,000 x20& *53| 10,000
OllHsLIY 29 225 7Y
50,0003 x20E *23| 2,000
02 2329l 3,000 3,000 0
= Ofl &F 3,000 3,000 0
OllsAA ANLEY SN2L
500,000& *63 3,000
206 M=Hl 25,200 33,200 28,000
01 M=l 25,200 33,200 A 8,000
= 0l & 25,200 33,200 A 8,000
OllN=ZEE 2 W+ 8,000
Oll=LTY N7
50,000& x10& 83| 4,000
OHlZ . SHl, X2LEH 7Y
20,0003 x20& %103 4,000
OxNRsY 84 10,000
OXRsY 84 WETY
50,000& x20& *53] 5,000
OUlZ 88, X2LEH 7Y
20,0003 255 %103 5,000
OBSYSAL DHEH 22 H22Y 7,200
O=2MWAH 4 W 2
1,100,000& x2& 2,200
o&tE 22 + 54,000 *50m* 2,700
O2g=z ot FHH| 100, 000 *2304 & 2,300
EItE 2SS (MEXNA LIl Are) 88,922 110,730 A 21,808
101 elA4| 6,872 6,680 192
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2N WBASAD
o NHIss 59 SY(SYHSLN/5Y - 52)
Sel: SIS (2@
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES Sl T HRE2
04 JIAH22RNSES 6,872 6,680 192
= 0 4 6,872 6,680 192
OMTH LAAY ol 6,872
OS2 Z(7)X AW oy
68,7202 x52 +10% 3,436
O0S-IIS2 BX 4T o=y
68,7202 x52 102 3,436
206 T2l 52,050 34,050 18,000
01 Wl 52,050 34,050 18,000
= 0 &t 52,050 34,050 18,000
OZeIE 28 2ERY 52,050
OSB(SY) 37 724l 3508+70,0007 24,500
OOISZ(sHutetolel 2Z) EX 2yl
70,0002 *1002 7,000
OHlZ ¥ Y
10,0008 235 *45 X x23] 1,800
Os27y 15,0008 *5 5 +5 23] 750
QAT @A ZH AIIY W2
10,0002 *10Z =+1007H 10,000
OUAT A ZH 22 7
5002 %25 +8,000M 8,000
401 ANZHIL ST 30,000 70,000 40,000
01 Al&HI 30,000 70,000 40,000
= 0 4t 30,000 70,000 40,000
OMZANEE F¥ Hgx Fo L =i
30,000,000 * 141 30,000
ANNSASANEE 29 74,134 153,376 AT9,242
201 Yur2YHl 58, 134 58,134 0
01 At el 4,500 4,500 0
=0 &t 4,500 4,500 0
ORNKNE ASNEL 29 428 7Y
50,0002 103! 1,500
o542 EFSA 2 8I7Y
2,0002! *1,5000H 3,000
02 ZZ2Y| 53,634 53,634 0
=0l &t 53,634 53,634 0
OIS ASANBE 29 53,634
OSA4RFH  1,30020+2,0000 2543 20,800
o=aFILS 26,834
-J=es 360,750 *1.1037+ 122 4,778
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2N dEd s
BH: N20iss 59 SA(SUNSLN/=Y - 5E)
o9 HEsNe CER-E
SA BB (AH) - HBAY - BA= o) ) HDE 2
ENE=A A=
79.3&*21,000kwh*1.1037+12& 22,056
OAIEHEISXE = 500, 000& x123] 6,000
206 M Z= bl 16,000 16,000 0
01 M=z 4l 16,000 16,000 0
= 0ff &F 16,000 16,000 0
ORMEES ASANEZ M= Yl 10,000
SIH(BR) 2Ll S
50,000& *50F *23| 5,000
Otlg, s Yl 3 5,000
OAHINE=sE =4 6,000
21 32E Mg 7 80,000& x50 m’ 4,000
OM&g=s& e & 2
20,000& x100m* 2,000
HE2A AU (JIEHDIEL) 134,437 131,257 3,180
2zl (2ed =) 134,437 131,257 3,180
HE =T ZHI 3,600 3,600 0
203 YR F&H 3,600 3,600 0
04 2EN2IYRFAH| 3,600 3,600 0
= 0ff & 3,600 3,600 0
ORMNZ2IHR2FLAU 300,000& x12& 3,600
AL 2A | 70,417 70,417 0
201 LBt 49H| 70,417 70,417 0
01 AR22lYl 27,059 27,059 0
= 0ff & 27,059 27,059 0
OJl2=+2H| 6,830
o=2g+4 16,600
o= &l 3,629
02 2=29Hl 43,358 43,358 0
= 0ff &F 43,358 43,358 0
03323 % HA 400
(@) K=3:]! 23,870
O A& &= X bl 9,250
Ot el 7,538
oYXtz 2,300
0f bl 60,420 57,240 3,180
202 O Hl 60,420 57,240 3,180
01 =LHO b 60,420 57,240 3,180
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fA: B
g3l

Jod
9
m
~
S
m
o
{0
2t
o

M #ye
ohel: Je2du(dEZsgat)
x - . 0 & o & & 0 A o -
SA - B (SH) - HRAY - BAES =z i BlRE2
= Off & 60,420 57,240 3,180
OJI2gf=a 20
45,600

200,000& 19 x12&

65,0003 x19€ «12& 14,820
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